SAE jZ=%sk
1= A= N Y Y N . () &
BFG H#REERESMEZEL-EO 24°4EE
LA
L4 s1
— ()
-
0| = = Q
5 ] [a} i) ] _
[ars )
=
@ DB
D1 1242 = TS (bar)
(F4M)
LK ~ | D3 L1 L2 L4 LA S1 DB (2~ l) OZU[E Fr/4 TS CF
35 10L 8 30 | 23.0 | 390 | 39 19 6.4 M6x22 20x2.5 0.15 BFG10L/LK35 315
35 12L 10 30 | 23.0 | 39.0 | 39 22 6.4 M6x22 20x2.5 0.16 BFG12L/LK35 315
35 15L 12 30 | 230|380 | 39 27 6.4 M6x22 20x2.5 0.19 BFG15L/LK35 250
35 16S 12 30 | 215 | 395 | 39 30 6.4 M6x22 20x2.5 0.21 BFG16S/LK35 315
40 15L 12 35 | 28.0 | 43.0 | 42 27 6.4 M6x22 26x2.5 0.17 BFG15L/LK40 100
40 18L 15 35 | 275 | 440 | 42 32 6.4 M6x22 26x2.5 0.22 BFG18L/LK40 100
40 221 19 35 | 275 | 445 | 42 36 6.4 M6x22 26x2.5 0.24 BFG22L/LK40 100
40 28L | 24 35 | 275 | 445 | 42 41 6.4 M6x22 26x2.5 0.28 BFG28L/LK40 100
55 | 20S 16 50 | 395 | 61.0 | 57 36 8.4 M8x25 32x2.5 0.35 BFG20S/LK55 250
XERFSEERE, NHITHEEEZHTATEHME, FHSHHS,
ERIEMR R RE LR E R RIE 5
ITHRSESR
[ZE] wRiRFE |6 FRAEE R
pS] REBEEZ
RN, FooNiniBiEsE CF BFG16S/LK350MDCF NBR
H19 FEmtEZR 4100/CH



